N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

[N o associated

normalized x? |

VS

ck

[N of reco tra

track x?

berset

o
N
0
—
©
—
<
—
N
—
i (=}
—
=100
-1©
=<
LX (o1}
“ )
¢ 2
o =) o
— -
syoes ared|dnp syoeJ) ayed||dnp
I o
N <
00 X
— O
s
© =
—
<
i ]
N
el
(=]
—
0
©
<
N
o
I o
N <
00 X
— O
IS
© s
—
<
—
o
i
o
—
0
*1©
< 5
Q
~ | s
[ 1 g
=) = ] © 2
= - S S
oney 7] swenann oney
2
o, S
=}
Qo
ol 1=
RN
o & ES
— m,m_
< E=
— 9494
Lo
N
—
o
—
0
© .
@
g
~ S
g
~ °
" ]
s s o 2
o © o
z — —

syoer™

syoen



	Contents
	Page 1


